ISTRUZIONI PER IL MONTAGGIO YAMAHA
Wﬁ ASSEMBLY INDICATIONS T-MAX12-13
S COMPONENTS 2
Portatarga — License Plate Support PRTAY12

Smontare completamente il portatarga. Awvitare le piastre sostegno portatarga tramite 4 viti M6 x 20 T.
bombata. (FIG 1)

Fissare la piastra targa con le 2 viti 6 x 16 TCCE e dadi M6 autobloccanti, in fine, regolare l'inclinazione
della targa con I'apposita vite 4 x 10 e rispettivo dado.

Dismount the original license plate support. Screw the plate support holder with 4 screws M6 x 20 T.
rounded. (FIG 1)

Fix the plate holder with 2 screws 6 x 16 TCCE and nuts M6 self-locking, adjust the angle of the plate
with the screw 4 x 10 and its corresponding nut.

FIG.1

Nel caso il fanale posteriore non integrasse la luce portatarga, € possibile acquistare separatamente la luce
portatarga VMC disponibili in due versioni.

In case the rear light of the bike doesn’t include the license plate light, there is the possibility to buy it
separately, choosing from 2 VMC models:

Cod: PRTLO1 Cod: PRTL02




